NOTE: THIS IS MODEL PAPER FOR GUIDANCE OF STUDENTS & TEACHERS

Model Paper: MATHEMATICS- 1
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NOLle:. You have four choices for each objective type question as A, B, C and D. Choose the correct

answer andencircle 1t. Cutting, erasing, overwnung, encirching more than one option, using of
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lead pencil will result in zero markin that question.
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| ) Which is c::rdf:-r of a square matrizc‘?
| . 5+4 The conjugate of 5+4i is - ._;:;(_r‘fb’b’5+4i
O . ¥ é:(?./';’ ¥ 1, JL«"J 3
| : ) ) The logarithm of unity to any base is
N = -2

equation
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4x+3y-2 is analgebraic
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Find m so that x*+4x+m is a complete square
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| The square root of a“-2ab+1 is
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VWhich one is solution of the in equation 3-4x<11
When XER
(-1,-1) - 24(X YY) I (X-1 , y+1) = (D,D)/T
If (x-1, Y+1)=(0,)) then (x, y) is
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- Distance between points (1,0) amd (0,1) is
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| _ How many end points has a ray?
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Equal _
distance Concurrent FPerpendicular
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lines can be drawn through two points
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27 cm? S cm? 18 cm?

6 cm

What is the area of given figure
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The medians of a triangle cut each other in
the ratio

sy < 4:1







